



Date: 08/01/2017

Page 1 of 4

Ship To	:	Bill To:		Billing Co				
City of S	San Diego Contact for Delivery Address				Monica Langston			
92101		SAN DIEGO CA 92123	Telephone:					
				E-Mail:ML	ANGSTO	N@SANE	IEGO.GO	
Vendo	r: Littlejohn Reuland Corporation	1	Terms: within 30	days Due	net			
	PO Box 58487		Delivery					
	Los Angeles CA 90058-0487		FOB Des					
			Buyer:	Ray F				
Vendor	<b>ID:</b> 10011575 <b>Telephone:</b> 3235875255	5-39 <b>62Mail:</b> Irobinson@littlejohn-reuland.co		one: 619-2				
render			E-Mail:	RFalc	on@sandi	ego.gov		
Line #	Item ID/Description	Del.Date Quan	tity/UM	Unit	Price	Exten	ded Price	
1	FY18 CSF NCWRP VIBRATION DATA ANALYS FY18 CSF NCWRP VIBRATION DATA ANALYS GOOD FROM 07/01/2017-06/30/2018		35 H	USD	88.00	USD	3,080.0	
	PO released NTE as may be required. Update insurance and business tax as required.							
	DEPARTMENT CONTACT:DUANE SMITH 858	-614-4019						
	DELIVER TO-9191 KEARNY VILLA CT. SAN D							
**	Item completely delivered			_				
2	FY18 CSF NCWRP PER TRIP FY18 CSF NCWRP PER TRIP PA#4600002590 GOOD FROM 07/01/2017-06/30/2018	11/04/2017 ) LINE 5	5 EA	USD	64.35	USD	321.7	
	DEPARTMENT CONTACT:DUANE SMITH 858	-614-4019						
***	DELIVER TO-9191 KEARNY VILLA CT. SAN D Item partially delivered	IEGO, CA 92123						
3	FY18 CSF NCWRP PER DIEM EXPENSES PEF		6 EA	USD	150.12	USD	900.	
	GOOD FROM 07/01/2017-06/30/2018							
	DEPARTMENT CONTACT:DUANE SMITH 858	-614-4019						
**	DELIVER TO-9191 KEARNY VILLA CT. SAN D Item partially delivered	IEGO, CA 92123						
4	FY18 CSF SBWRP VIBRATION DATA ANALYS FY18 CSF SBWRP VIBRATION DATA ANALYS GOOD FROM 07/01/2017-06/30/2018		57 H	USD	88.00	USD	5,016.0	
	DEPARTMENT CONTACT:DUANE SMITH 858	-614-4019						
**	DELIVER TO-9191 KEARNY VILLA CT. SAN D Item partially delivered	IEGO, CA 92123						
5	FY18 CSF SBWRP PER TRIP	11/04/2017	10 EA	USD	64.35	USD	643.5	
lotes: Th	he Terms and Conditions of this Purchase Or	rder are available at http://sandiego.gov/purch	asing/	SE	E LA	ST P	AGE	
IMPORTANT!				FOR				
			es must b					





Date: 08/01/2017

Page 2 of 4

G(     DE     DE     Ite     6     FY'     G(     DE     Ite     DE     Ite     DE     Ite     OE     T     FY'     G(     DE     Ite     DE     Ite     DE     Ite     B     FY'	Y18 CSF SBWRP PER TRIP PA#4600002590 LINE 5 OOD FROM 07/01/2017-06/30/2018 EPARTMENT CONTACT:DUANE SMITH 858-614-4019 ELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123 om partially delivered <b>18 CSF SBWRP PER DIEM EXPENSES PER DAY</b> Y18 CSF SBWRP PER DIEM EXPENSES PER DAY PA#4600002 OOD FROM 07/01/2017-06/30/2018 EPARTMENT CONTACT:DUANE SMITH 858-614-4019 ELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123 om partially delivered <b>18 CSF MBC VIBRATION DATA ANALYSIS REP</b> Y18 CSF MBC VIBRATION DATA ANALYSIS W/ REPORT PA#46 OOD FROM 07/01/2017-06/30/2018 EPARTMENT CONTACT:DUANE SMITH 858-614-4019 ELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123 om partially delivered <b>18 CSF MBC VIBRATION DATA ANALYSIS</b> W/ REPORT PA#46 OOD FROM 07/01/2017-06/30/2018 EPARTMENT CONTACT:DUANE SMITH 858-614-4019 ELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123 om partially delivered	11/04/2017	8 EA 75 H	USD	150.12		
*** DE Ite Ite FY GC DE Ite DE Ite T FY GC DE Ite M DE Ite M DE Ite P S FY S C DE Ite DE Ite PY S C DE Ite PY S C DE Ite PY S C DE Ite PY S C DE Ite PY S C DE Ite PY S C DE Ite PY S C DE Ite PY S C DE Ite PY S C DE Ite PY S C DE Ite PY S C DE Ite PY S C DE PY S C DE PY S C DE PY S C DE PY S C DE PY S C DE PY S C DE PY S C DE PY S C DE PY S C DE PY S C DE PY S C DE PY S C DE PY S C DE PY S C DE PY S C DE PY S PY S C DE PY S PY S C PY S PY PY S PY PY PY S PY S PY PY PY PY PY PY PY PY PY PY	ELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123 em partially delivered <b>18 CSF SBWRP PER DIEM EXPENSES PER DAY</b> Y18 CSF SBWRP PER DIEM EXPENSES PER DAY PA#4600002 OOD FROM 07/01/2017-06/30/2018 EPARTMENT CONTACT:DUANE SMITH 858-614-4019 ELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123 em partially delivered <b>18 CSF MBC VIBRATION DATA ANALYSIS REP</b> Y18 CSF MBC VIBRATION DATA ANALYSIS W/ REPORT PA#46 OOD FROM 07/01/2017-06/30/2018 EPARTMENT CONTACT:DUANE SMITH 858-614-4019 ELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123 em partially delivered	590 LINE 6 11/04/2017 500002590 LINE 3					
**** Ite  6 FY' FY GC DE DE Ite  7 FY' GC DE  8 FY' FY FY FY FY FY FY FY FY FY FY	<b>18 CSF SBWRP PER DIEM EXPENSES PER DAY</b> 18 CSF SBWRP PER DIEM EXPENSES PER DAY PA#4600002 OOD FROM 07/01/2017-06/30/2018 EPARTMENT CONTACT:DUANE SMITH 858-614-4019 ELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123 em partially delivered <b>18 CSF MBC VIBRATION DATA ANALYSIS REP</b> Y18 CSF MBC VIBRATION DATA ANALYSIS W/ REPORT PA#46 OOD FROM 07/01/2017-06/30/2018 EPARTMENT CONTACT:DUANE SMITH 858-614-4019 ELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123 em partially delivered	590 LINE 6 11/04/2017 500002590 LINE 3					
••••• FY GC DE Ite 7 FY GC DE DE UE Ite 8 FY FY	Y18 CSF SBWRP PER DIEM EXPENSES PER DAY PA#4600002 OOD FROM 07/01/2017-06/30/2018 EPARTMENT CONTACT:DUANE SMITH 858-614-4019 ELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123 em partially delivered Y18 CSF MBC VIBRATION DATA ANALYSIS REP Y18 CSF MBC VIBRATION DATA ANALYSIS W/ REPORT PA#46 OOD FROM 07/01/2017-06/30/2018 EPARTMENT CONTACT:DUANE SMITH 858-614-4019 ELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123 em partially delivered	590 LINE 6 11/04/2017 500002590 LINE 3					1,200.9 6,600.0
**** DE Ite 7 FY GC DE UE Ite 8 FY FY	ELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123 em partially delivered <b>18 CSF MBC VIBRATION DATA ANALYSIS REP</b> Y18 CSF MBC VIBRATION DATA ANALYSIS W/ REPORT PA#46 OOD FROM 07/01/2017-06/30/2018 EPARTMENT CONTACT:DUANE SMITH 858-614-4019 ELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123 em partially delivered	00002590 LINE 3	75 H	USD	88.00	USD	6,600.0
**** Ite  7 FY FY GC DE DE Ite  8 FY FY	The CSF MBC VIBRATION DATA ANALYSIS REP Y18 CSF MBC VIBRATION DATA ANALYSIS W/ REPORT PA#46 OOD FROM 07/01/2017-06/30/2018 EPARTMENT CONTACT:DUANE SMITH 858-614-4019 ELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123 em partially delivered	00002590 LINE 3	75 H	USD	88.00	USD	6,600.0
••••• FY G( DE Ite Ite 8 FY FY	Y18 CSF MBC VIBRATION DATA ANALYSIS W/ REPORT PA#46 OOD FROM 07/01/2017-06/30/2018 EPARTMENT CONTACT:DUANE SMITH 858-614-4019 ELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123 am partially delivered	00002590 LINE 3	75 H	USD	88.00	USD	6,600.0
**** DE Ite 	ELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123 em partially delivered	11/04/2017					
**** Ite 	em partially delivered	11/04/2017				1	
FY	18 CSF MBC PER TRIP	11/04/2017					
G	Y18 CSF MBC PER TRIP PA#4600002590 LINE 5 OOD FROM 07/01/2017-06/30/2018	1104/2017	10 EA	USD	64.35	USD	643.5
DE	EPARTMENT CONTACT: DUANE SMITH 858-614-4019						
	ELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123 am completely delivered						
FY	18 CSF MBC PER DIEM EXPENSES PER DAY Y18 CSF MBC PER DIEM EXPENSES PER DAY PA#4600002590 OOD FROM 07/01/2017-06/30/2018	11/04/2017 ) LINE 6	10 EA	USD	150.12	USD	1,501.2
DF	EPARTMENT CONTACT:DUANE SMITH 858-614-4019						
	ELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123 em partially delivered						
FY	<b>18 CSF PLWWTP VIBRATION DATA ANALYSIS</b> Y18 CSF PLWWTP VIBRATION DATA ANALYSIS W/ REPORT P OOD FROM 07/01/2017-06/30/2018	11/04/2017 A#4600002590 LINE 3	35 H	USD	88.00	USD	3,080.0
DE	EPARTMENT CONTACT:DUANE SMITH 858-614-4019						
	ELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123 am partially delivered						
FY	<b>18 CSF PLWWTP PER TRIP</b> Y18 CSF PLWWTP PER TRIP PA#4600002590 LINE 5 OOD FROM 07/01/2017-06/30/2018	11/04/2017	5 EA	USD	64.35	USD	321.7
Notes: The Te	erms and Conditions of this Purchase Order are available	at http://sandiego.go	v/purchasing/	SE	EE LA		PAGE
	IMPORTANT!				FOR		





Date: 08/01/2017

Page 3 of 4

Line #	Item ID/Description	Del.Date	Quantity/UM	Uni	t Price	Exten	ded Price
	DEPARTMENT CONTACT:DUANE SMITH 858-614-4019						
***	DELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123 Item partially delivered						
12	FY18 CSF PLWWTP PER DIEM EXPENSE PER DAY FY18 CSF PLWWTP PER DIEM EXPENSES PER DAY PA#4600 GOOD FROM 07/01/2017-06/30/2018	11/04/2017 0002590 LINE 6	6 EA	USD	150.12	USD	900.72
	DEPARTMENT CONTACT:DUANE SMITH 858-614-4019						
***	DELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123 Item partially delivered						
13	FY18 CSF PS1 VIBRATION DATA ANALYSIS REP FY18 CSF PS1 VIBRATION DATA ANALYSIS W/ REPORT PA#4 GOOD FROM 07/01/2017-06/30/2018	11/04/2017 4600002590 LINE 3	11 H	USD	88.00	USD	968.00
	DEPARTMENT CONTACT:DUANE SMITH 858-614-4019						
***	DELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123 Item partially delivered						
14	FY18 CSF PS2 VIBRATION DATA ANALYSIS REP FY18 CSF PS2 VIBRATION DATA ANALYSIS W/ REPORT PA#4 GOOD FROM 07/01/2017-06/30/2018	11/04/2017 4600002590 LINE 3	11 H	USD	88.00	USD	968.00
	DEPARTMENT CONTACT:DUANE SMITH 858-614-4019						
***	DELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123 Item partially delivered						
15	FY18 CSF PS2 PER TRIP FY18 CSF PS2 PER TRIP PA#4600002590 LINE 5 GOOD FROM 07/01/2017-06/30/2018	11/04/2017	5 EA	USD	64.35	USD	321.75
	DEPARTMENT CONTACT:DUANE SMITH 858-614-4019						
***	DELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123 Item partially delivered						
16	FY18 CSF PS2 PER DIEM EXPENSE PER DAY FY18 CSF PS2 PER DIEM EXPENSES PER DAY PA#46000025 GOOD FROM 07/01/2017-06/30/2018	11/04/2017 90 LINE 6	1 EA	USD	150.12	USD	150.12
	DEPARTMENT CONTACT:DUANE SMITH 858-614-4019						
	DELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123						
17	FY18 CSF PS64 VIBRATION DATA ANALYSIS FY18 CSF PS64 VIBRATION DATA ANALYSIS W/ REPORT PA# GOOD FROM 07/01/2017-06/30/2018	11/04/2017 #4600002590 LINE 3	46 H	USD	88.00	USD	4,048.00
	DEPARTMENT CONTACT:DUANE SMITH 858-614-4019						
	DELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123						
Notes: Th	he Terms and Conditions of this Purchase Order are availabl	e at http://sandiego.g	ov/purchasing/				
	IMPODTANTI			SE			PAGE
	IMPORTANT!				FOR	IOT	AL





Date: 08/01/2017

Page 4 of 4

Print CSF PSE VERTER THE PAAR000000500 UNE 5   0   0   0     DEPARTMENT CONTACT.DUANE SMITH 858-614-4019   0   0   10   Frint CSF PS4 PER DIEM EXPENSES PER DAY   11/04/2017   10   EA   USD   150.12   USD   1.501     Print CSF PS4 PER DIEM EXPENSES PER DAY   11/04/2017   10   EA   USD   150.12   USD   1.501     Print CSF PS4 PER DIEM EXPENSES PER DAY   11/04/2017   10   EA   USD   150.12   USD   1.501     DEPARTMENT CONTACT.DUANE SMITH 858-614-4019   0 <td< th=""><th>Line #</th><th>Item ID/Description</th><th>Del.Date</th><th>Quantity/UM</th><th>Unit Price</th><th>Exte</th><th>ended Price</th></td<>	Line #	Item ID/Description	Del.Date	Quantity/UM	Unit Price	Exte	ended Price
DELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123   USD   150.2   150.2   150.2   150.2   150.2   150.2   150.2   150.2   150.2 <th150.2< th="">   150.2   <th150.2< td="" th<=""><td>18</td><td>FY18 CSF PS64 PER TRIP PA#4600002590 LINE 5</td><td>11/04/2017</td><td>5 EA</td><td>USD 64.3</td><td>5 USD</td><td>321.7</td></th150.2<></th150.2<>	18	FY18 CSF PS64 PER TRIP PA#4600002590 LINE 5	11/04/2017	5 EA	USD 64.3	5 USD	321.7
19   FYIG CSF PS44 PER DIEM EXPENSES PER DAY   1104/2017   10   EA   USD   150.12   USD   1,501     20   FYIG CSF PS44 PER DIEM EXPENSES PER DAY   1104/2017   10   EA   USD   150.12   USD   1,501     20   FYIG CSF PS45 VIBEATION DATA ANALYSIS   1104/2017   11   H   USD   88.00   USD   966     20   FYIG CSF PS65 VIBEATION DATA ANALYSIS   1104/2017   11   H   USD   88.00   USD   966     21   FYIG CSF PS65 VIBEATION DATA ANALYSIS WI REPORT PA#600002590 LINE 3   0000 FROM 0701/2017-06302018   1104/2017   6   H   USD   88.00   USD   626     22   FYIG CSF PS PAR VIBEATION DATA ANALYSIS WI REPORT PA#600002590 LINE 3   0000 FROM 0701/2017-06302018   1104/2017   6   H   USD   88.00   USD   626     23   FYIG CSF PS CAPS VIBEATION DATA ANALYSIS WI REPORT PA#4600002590 LINE 3   0000 FROM 0701/2017-06302018   1104/2017   6   H   USD   88.00   USD   526     24   FYIG CSF PS EMG VIBRATION DATA ANALYSI		DEPARTMENT CONTACT: DUANE SMITH 858-614-4019					
FY18 CSF PS64 PER DIEM EXPENSES PER DAY PA44600002550 LINE 6 Image: Comparison of the compar		DELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123					
DELUVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123   Into42017   11   H   USD   88.00   USD   966     20   FY18 CSF P365 VIBRATION DATA ANALYSIS WIREPORT PAR4600002590 LINE 3 GOOD FROM 07/01/2017/06/302016   11/04/2017   11   H   USD   88.00   USD   966     21   FY18 CSF P5 PCN VIBRATION DATA ANALYSIS WIREPORT PAR4600002590 LINE 3 GOOD FROM 07/01/2017/06/302016   11/04/2017   6   H   USD   88.00   USD   526     22   FY18 CSF P5 PCN VIBRATION DATA ANALYSIS WIREPORT PAR4600002590 LINE 3 GOOD FROM 07/01/2017/06/302016   11/04/2017   6   H   USD   88.00   USD   526     23   FY18 CSF P5 GAPS VIBRATION DATA ANALYSIS WIREPORT PAR4600002590 LINE 3 GOOD FROM 07/01/2017/06/302018   11/04/2017   6   H   USD   88.00   USD   526     24   FY18 CSF P5 GAPS VIBRATION DATA ANALYSIS WIREPORT PAR4600002590 LINE 3 GOOD FROM 07/01/2017/06/302018   11/04/2017   6   H   USD   88.00   USD   526     25   FY18 CSF P5 GAPS VIBRATION DATA ANALYSIS WIREPORT PAR4600002590 LINE 3 GOOD FROM 07/01/2017/06/302018   11/04/2017   6   H   USD   88.00	19	FY18 CSF PS64 PER DIEM EXPENSES PER DAY PA#4600002590		10 EA	USD 150.1	2 USD	1,501.2
20 FY18 CSF PS6 VIERATION DATA ANALYSIS 11/04/2017 11 H USD 88.00 USD 966   21 FY18 CSF PS6 VIERATION DATA ANALYSIS 11/04/2017 6 H USD 88.00 USD 526   21 FY18 CSF PS PEN VIERATION DATA ANALYSIS 11/04/2017 6 H USD 88.00 USD 526   21 FY18 CSF PS PEN VIERATION DATA ANALYSIS 11/04/2017 6 H USD 88.00 USD 526   22 FY18 CSF PS GAPS VIERATION DATA ANALYSIS 11/04/2017 6 H USD 88.00 USD 526   23 FY18 CSF PS GAPS VIERATION DATA ANALYSIS 11/04/2017 6 H USD 88.00 USD 526   24 FY18 CSF PS GAPS VIERATION DATA ANALYSIS 11/04/2017 6 H USD 88.00 USD 526   25 FY18 CSF PS GAPS VIERATION DATA ANALYSIS 11/04/2017 6 H USD 88.00 USD 526   26 FY18 CSF PS GAPS VIERATION DATA ANALYSIS 11/04/2017 6 H USD 68.00 US		DEPARTMENT CONTACT:DUANE SMITH 858-614-4019					
PY16 CSF PS85 VIBRATION DATA ANALYSIS W/ REPORT PA#4600002590 LINE 3 Image: Contract: Duane SMITH 858-614-4019   DELVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123 Image: Contract: Duane SMITH 858-614-4019 Image: Contract: Duane SMITH 858-614-4019   21 FY18 CSF PS PEN VIBRATION DATA ANALYSIS 11/04/2017 6 H USD 88.00 USD 528   22 FY18 CSF PS ENVIBRATION DATA ANALYSIS 11/04/2017 6 H USD 88.00 USD 528   22 FY18 CSF PS GAPS VIBRATION DATA ANALYSIS 11/04/2017 6 H USD 88.00 USD 528   23 FY18 CSF PS GAPS VIBRATION DATA ANALYSIS 11/04/2017 6 H USD 88.00 USD 528   24 FY18 CSF PS GAPS VIBRATION DATA ANALYSIS 11/04/2017 6 H USD 88.00 USD 528   3000 FROM 07/01/2017-06/30/2018 11/04/2017 6 H USD 88.00 USD 528   41 FY18 CSF PS EMG VIBRATION DATA ANALYSIS 11/04/2017 6 H USD 88.00 USD 528   32 FY18 CSF PS EMG VIBRATION DATA ANALYSIS 11/04/2017 6 H USD 88.00 USD <t< td=""><td></td><td>DELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123</td><td></td><td></td><td></td><td></td><td></td></t<>		DELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123					
DELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123 USD 88.00 USD 528   21 FY18 CSF PS PEN VIBRATION DATA ANALYSIS 11/04/2017 6 H USD 88.00 USD 528   22 FY18 CSF PS EN VIBRATION DATA ANALYSIS 11/04/2017 6 H USD 88.00 USD 528   22 FY18 CSF PS GAPS VIBRATION DATA ANALYSIS 11/04/2017 6 H USD 88.00 USD 528   23 FY18 CSF PS GAPS VIBRATION DATA ANALYSIS 11/04/2017 6 H USD 88.00 USD 528   24 FY18 CSF PS EM VIBRATION DATA ANALYSIS 11/04/2017 6 H USD 88.00 USD 528   35 000 FROM 07/01/2017-06/30/2018 DEPARTMENT CONTACT:DUANE SMITH 858-614-4019 USD 88.00 USD 528   36 000 FROM 07/01/2017-06/30/2018 I1/04/2017 6 H USD 88.00 USD 528   90 ELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123 11/04/2017 6 H USD 88.00 USD 528   90 ELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123	20	FY18 CSF PS65 VIBRATION DATA ANALYSIS W/ REPORT PA#46		11 H	USD 88.0	0 USD	968.0
21 FY18 CSF PS PEN VIBRATION DATA ANALYSIS 11/04/2017 6 H USD 88.00 USD 528   21 FY18 CSF PS PEN VIBRATION DATA ANALYSIS W/ REPORT PA#4600002590 LINE 3 0000 FROM 07/01/2017-06/30/2018 0 0 0   22 FY18 CSF PS GAPS VIBRATION DATA ANALYSIS 11/04/2017 6 H USD 88.00 USD 528   22 FY18 CSF PS GAPS VIBRATION DATA ANALYSIS 11/04/2017 6 H USD 88.00 USD 528   23 FY18 CSF PS GAPS VIBRATION DATA ANALYSIS 11/04/2017 6 H USD 88.00 USD 528   24 FY18 CSF PS EMS VIBRATION DATA ANALYSIS 11/04/2017 6 H USD 88.00 USD 528   25 FY18 CSF PS EMS VIBRATION DATA ANALYSIS 11/04/2017 6 H USD 88.00 USD 528   26 FY18 CSF PS EMS VIBRATION DATA ANALYSIS 11/04/2017 6 H USD 88.00 USD 528   27 FY18 CSF PS EMS VIBRATION DATA ANALYSIS W/ REPORT PA#4600002590 LINE 3 0 USD 528 0 0 <td></td> <td>DEPARTMENT CONTACT:DUANE SMITH 858-614-4019</td> <td></td> <td></td> <td></td> <td></td> <td></td>		DEPARTMENT CONTACT:DUANE SMITH 858-614-4019					
FY18 CSF PS PS NUBRATION DATA ANALYSIS W/ REPORT PA#4600002590 LINE 3 DEPARTMENT CONTACT:DUANE SMITH 858-614-4019   DELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123 HUSD 88.00 USD 88.00   22 FY18 CSF PS GAPS VIBRATION DATA ANALYSIS 11/04/2017 6 H USD 88.00 USD 528   GOOD FROM 07/01/2017-06/30/2018 DEPARTMENT CONTACT:DUANE SMITH 858-614-4019 USD 88.00 USD 528   23 FY18 CSF PS EMG VIBRATION DATA ANALYSIS 11/04/2017 6 H USD 88.00 USD 528   24 FY18 CSF PS EMG VIBRATION DATA ANALYSIS 11/04/2017 6 H USD 88.00 USD 528   25 FY18 CSF PS EMG VIBRATION DATA ANALYSIS 11/04/2017 6 H USD 88.00 USD 528   26 GOOD FROM 07/01/2017-06/30/2018 11/04/2017 6 H USD 88.00 USD 528   26 GOOD FROM 07/01/2017-06/30/2018 11/04/2017 6 H USD 88.00 USD 528   27 FY18 CSF PS EMG VIBRATION DATA ANALYSIS W/ REPORT PA#4600002590 LINE 3 GOOD FROM 07/01/2017-06/30/2018 USD 88.00 USD 528   28 GOOD FROM 07/01/2017-06/30/2018 MITH 858-614-4019 USD 88.00 USD 88.00 USD 88.00   DELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123 USD 88.00 USD 88.00 USD 88.00 USD 88.00 <td< td=""><td></td><td>DELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123</td><td></td><td></td><td>_</td><td></td><td></td></td<>		DELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123			_		
DELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123 Image: Comparison of this Purchase Order are available at http://sandiego.gov/purchasing/   22 FY18 CSF PS GAPS VIBRATION DATA ANALYSIS 11/04/2017 6 H USD 88.00 USD 526   23 FY18 CSF PS GAPS VIBRATION DATA ANALYSIS 11/04/2017 6 H USD 88.00 USD 526   23 FY18 CSF PS EMG VIBRATION DATA ANALYSIS 11/04/2017 6 H USD 88.00 USD 526   24 FY18 CSF PS EMG VIBRATION DATA ANALYSIS 11/04/2017 6 H USD 88.00 USD 526   25 FY18 CSF PS EMG VIBRATION DATA ANALYSIS 11/04/2017 6 H USD 88.00 USD 526   26 GOOD FROM 07/01/2017-06/30/2018 DEPARTMENT CONTACT:DUANE SMITH 858-614-4019 USD 88.00 USD 526   DELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123 Image: Comparison of this Purchase Order are available at http://sandiego.gov/purchasing/ Image: Comparison of this Purchase Order are available at http://sandiego.gov/purchasing/ Image: Comparison of this Purchase Order are available at http://sandiego.gov/purchasing/ Image: Comparison of this Purchase Order are available at http://sandiego.gov/purc	21	FY18 CSF PS PEN VIBRATION DATA ANALYSIS W/ REPORT PA#		6 H	USD 88.0	0 USD	528.0
22 FY18 CSF PS GAPS VIBRATION DATA ANALYSIS 11/04/2017 6 H USD 88.00 USD 528   23 GOOD FROM 07/01/2017-06/30/2018 DEPARTMENT CONTACT: DUANE SMITH 858-614-4019 DELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123 6 H USD 88.00 USD 528   23 FY18 CSF PS EMG VIBRATION DATA ANALYSIS 11/04/2017 6 H USD 88.00 USD 528   23 FY18 CSF PS EMG VIBRATION DATA ANALYSIS 11/04/2017 6 H USD 88.00 USD 528   24 FY18 CSF PS EMG VIBRATION DATA ANALYSIS 11/04/2017 6 H USD 88.00 USD 528   25 GOOD FROM 07/01/2017-06/30/2018 DEPARTMENT CONTACT: DUANE SMITH 858-614-4019 USD 88.00 USD 528   DELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123 USD 1 1 1 1   VIEW TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123 USD 1 1 1 1   VIEW TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123 USD 1 1 1 1 1   VIEW TO-9191 KE		DEPARTMENT CONTACT:DUANE SMITH 858-614-4019					
FY18 CSF PS GAPS VIBRATION DATA ANALYSIS W/ REPORT PA#4600002590 LINE 3   GOOD FROM 07/01/2017-06/30/2018   DEPARTMENT CONTACT:DUANE SMITH 858-614-4019   DELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123   FY18 CSF PS EMG VIBRATION DATA ANALYSIS 11/04/2017 6 H   FY18 CSF PS EMG VIBRATION DATA ANALYSIS 11/04/2017 6 H   FY18 CSF PS EMG VIBRATION DATA ANALYSIS W/ REPORT PA#4600002590 LINE 3 USD 88.00 USD 526   GOOD FROM 07/01/2017-06/30/2018 DEPARTMENT CONTACT:DUANE SMITH 858-614-4019 USD 88.00 USD 526   DEPARTMENT CONTACT:DUANE SMITH 858-614-4019 DELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123 Image: Comparison of the comparis		DELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123			_		
DELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123 USD 88.00 USD 528   FY18 CSF PS EMG VIBRATION DATA ANALYSIS 11/04/2017 6 H USD 88.00 USD 528   GOOD FROM 07/01/2017-06/30/2018 DEPARTMENT CONTACT:DUANE SMITH 858-614-4019 USD 80.00 USD 80.00 USD 80.00   DELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123 USD 80.00 USD 80.00 USD 80.00 USD 80.00   Notes: The Terms and Conditions of this Purchase Order are available at http://sandiego.gov/purchasing/ Line Item Total \$ 35,040.00	22	FY18 CSF PS GAPS VIBRATION DATA ANALYSIS W/ REPORT P/		6 H	USD 88.0	0 USD	528.0
23 FY18 CSF PS EMG VIBRATION DATA ANALYSIS 11/04/2017 6 H USD 88.00 USD 528   PY18 CSF PS EMG VIBRATION DATA ANALYSIS W/ REPORT PA#4600002590 LINE 3 GOOD FROM 07/01/2017-06/30/2018 USD 88.00 USD 528   DEPARTMENT CONTACT:DUANE SMITH 858-614-4019 DELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123 USD 80.00 USD 10.00   Image: State of the terms and Conditions of this Purchase Order are available at http://sandiego.gov/purchasing/ Line Item Total \$ 35,040		DEPARTMENT CONTACT:DUANE SMITH 858-614-4019					
FY18 CSF PS EMG VIBRATION DATA ANALYSIS W/ REPORT PA#4600002590 LINE 3 GOOD FROM 07/01/2017-06/30/2018   DEPARTMENT CONTACT:DUANE SMITH 858-614-4019 DELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123   DELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123 DELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123   Iotes: The Terms and Conditions of this Purchase Order are available at http://sandiego.gov/purchasing/ Line Item Total \$ 35,040.		DELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123					
DELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123   DELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123   Image: Comparison of the comparison of th	23	FY18 CSF PS EMG VIBRATION DATA ANALYSIS W/ REPORT PA		6 H	USD 88.0	0 USD	528.0
Notes: The Terms and Conditions of this Purchase Order are available at http://sandiego.gov/purchasing/		DEPARTMENT CONTACT:DUANE SMITH 858-614-4019					
Line Item Total \$ 35,040.		DELIVER TO-9191 KEARNY VILLA CT. SAN DIEGO, CA 92123			_	_	
Line Item Total \$ 35,040.							
Line Item Total \$ 35,040.							
Line Item Total \$ 35,040.							
Line Item Total \$ 35,040.			· · · · · // · · ·	, , , ,			
	notes: ⊺	ne Terms and Conditions of this Purchase Order are available a	at nttp://sandiego.go	v/purcnasing/	Line Item Tota	\$	35,040.9
		IMPORTANT!			Tax	\$	0.0
p ensure prompt payments, PO # must appear on all shipments and invoices; all invoices must be rected to <i>Billing</i> Contact person at <i>Bill-To</i> address listed above <b>PO Total \$</b> 35,040.	o ensur rected t	e prompt payments, PO # must appear on all shipments o <i>Billing</i> Contact person at <i>Bill-To</i> address listed above	s and invoices; all	invoices must be	PO Total	\$	35,040.92